1.

ot

q el -5, 30 -2,

Ak 2 S

® -14 @) —3?5

Wl

Fold Az & Al

©) %5 (@)15

2~ = 31
TE Hol F

® 21

k13
=

mf,

5

3% (-2) x (—§> =15




o
R




Z3a botheted axb <0, a>b 4 o, +S

@D a @ b ® a+b (@)a—b

F Vg2 e

® b-a

9

~&B

axb<0,a>boH,a>0 b<0

@a>0

@b<0

@Da-b>0

®b-a<0
7]'7(]'1__7‘1_61—17




F T a, bl Wt a> b @ W, T F 7P A2 7

® a @ b ® a+b @ a-b (@)b—a

®a>bOolBR b-a<0 dUT}
Uz @, @, @, = BT kgt




7h&20] o] 7} 5dem, A2 9] Fel7t 2 x 32 x Gem, 017 90em <
A gwAE M5 § P 2 A s el w ek ol
gl B eAe] & mAZ ] oS acm, AEAA] A4S b

At @, 2 of ghg ool

=
=

>
|> b= S

oH .

B ~
TSl S HA ] g A 2] Dol

54, 2 x 32 x 6, 90 o] Ftj-gofso|B 2

54 = 2 x 33

2%x32x6=22x33

90 =2x32x5

ZdFoFrE=2x32 =18

T a=18

FEAA Q] M=

(54 +18) x (108 + 18) x (90 + 18) = 3x 6 x 5 = 90 ( 7H)
=90

90

= =5
18

)
P
i =




b2 o] do|, A2 9] Aol =07t 42} 54cm, 90cm, 108cm Q1 2]
SHA ReFo] AaE 717 22 ASHA AHER HEgol A
ool 3 Bt ARUAL AT A7 Agsteln @ o), K HA ]

N4
@D 180 74 @90 7R ® 36 7l
@ 24 7 ® 15 74

B ~

=d1AZE 7 As v AsEA o RA2 S Do|vt ZH
SRR P 4 EHEIPJ ZolE 54, 90, 108 2] HthFoF4=<l
18cm ©]tt.

kA ARk A=

(54 +18) x (90 + 18) x (108 = 18) = 90 (7H)




7.

HE B2 Al & a, b, ¢ 7} TS WET 1, Al 50 dia BAS

> He b<a<e

F5o = Uetofet.

@ a>3,b>-3

© bl =1-3|

© 3<c<b

® FAAN YeHS o, a 7} ¢ Bt -3 o © 7T
> =

@ ©°fl &fst] b =3

a7} c Bttt -39 7S ER a< ¢

L b<a<c




lal = 25, |b| =5 1 F A= a, b oll ot a+b & ARG A, a+b

o 213:20& B o SHAL ol A+ B o] gL

@ 20 @ -20 @25 @ -25 ® 30

B

25| = | — 25| = 25 o| B2
a=25F=qg=-250°|1
5| =]-5=5°|BE&

b=>5%EEb=-50|t}

g Tt dF @ b o AL
(25,5), (25,-5), (=25,5), (-25,-5)°|t}.

240 7%, a+b a+b 5 T 2ol 2 5 vk
(1) (a, b) = (25, 5) & ™,
a+b=25+5=30,a+b=25+5=50°]|t}.

(i) (a, b) = (25, —5) &

at+b=25+(— )—20 a+b=25=(-5)= -5 °o|t}.

(iii) (a, b) = (=25, 5) & i,

a+b=(- 25)+5_—20 a+b=(-25)+5=-5o|t}.

(iv) (a, b) = (=25, —5) & ™,

a+ b= (-25) + (-5) = =30, a+b = (-25) + (-5) = 5 °|t}.
w2kA, a+b O] HAG A & a+b O] & BEA =30, B= -5
ojt.

S A+B=30+(-5)=25




